2021 11

50 80
8 5 40
1+ )=1- =()
A 1- B. 1+ C. - D.i
cos(; — )=§ sin(C +9)=( )
A -3 B. 3 C. 22 D. -22
{} n =32 "1+ r ()
A. 3 B. -3 c.t D. -1
()= 2-0Q
¥ -




5 D BC F AD
AB E = ()
1 1 1
6. (+ +2) 22 ()
A. 60 B. 48 C.32
7 A B CD
D D D
44 47 ool
| C | c |
'BXL _____ - J— H—
B
@ @ 6
A B. C
8. 6
A. 20 B. 24 C.28
4 5
5
9. ()= —V3sin( —3)( >0)
A 0)=vV3
C. ()
1
D. () [03] 3

20

NIl

©
NI

D. 30

D. 36

CF

)

(

)



10. 11

( )
R o &y
® i
82% 4
Wes T o wE
B ="
1 T
R — i - j_ — 1
O 1 2 3 4 5 6 7 8 9 10 11
A. 11
B. 11
C. 3 11 80%
D. 9 11
11. 3 2V3 ()
A 3 B V39
’ 2
C 2 D 339
4 ! 4
12. ”
ABC 1 A AC F, B
BA F, oo AB,C
n F, S, a, ()
2(n-1
A a = (n-Y)
3
B. {S.}

C. a,+a,+..+a,=310n

D. {Sn _Sn—l}



13.

14.

15.

16.

4 20.0
=3 =12 =120° - = sin( + )=
(23)  (—498) | A B |
2= —1, 0
() R ()={(_1) =0 ()= +
a .
NA) AB=AC=AD E F
BC BA AB BCD A,B,C,D
0 0
1 2 3 4 5 6 7 8
9 10 11 12

16




